;> restart
> Slope = (t—5)-Heaviside(t —5)
Slope .= (t —5) Heaviside(t — 5) €))

[ > plot(Slope, t=0..10, scaling= CONSTRAINED)

[ > Step == Heaviside(t — 5)
Step := Heaviside(t — 5) 2)

> plot(Step, t=0..10, scaling= CONSTRAINED)
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=> Diff (Heaviside(t — 5), t) =diff (Heaviside(t — 5), t)
m Heaviside(t — 5) =Dirac(¢t — 5) 3)

> plot(Dirac(t —5),¢t=0..10, scaling= CONSTRAINED)




;> with(inttrans) :

> LapTransStep := laplace(Heaviside(t —5), t, s)
-5s

LapTransStep := © S

_> LapTransDelta = laplace(Dirac(t —5), ¢, s)
LapTransDelta .= ¢

_> LapTransSlope = laplace((t — 5)-Heaviside(t —5), ¢, s)
-5s

5s

LapTransSlope = © 5
s

— 6-exp(-4s)
> T =)

[ > f = invlaplace(F, s, t)
i f:=Heaviside(t —4) (t—4)3e8t_32
> plot(f,t=3.8.4.1)
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;> restart
> IntCon = %-lnt(cos(Z- tau) -sin(2- (¢ —tau) ), tau=0..t) = % int(cos(2- tau) -sin(2- (¢

—tau) ), tau=0..7)
.t

IntCon = % ‘ cos(2 1) sin(2¢—21) d’c=% sin(2¢) ¢ )
Y0
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